CONTRACT FOR PUBLIC WORK

COUNTY OF MONTEREY

STATE OF CALIFORNIA

PROJECT NO. 2201

THIS AGREEMENT, made in triplicate by and between the COUNTY OF MONTEREY, a political subdivision of the State of California, hereinafter called the "County," and Granite Rock Company, hereinafter called the "Contractor," WITNESSETH:

1. THE WORK

The Contractor shall do all the work and furnish all the materials, except such as are mentioned in any of the contract documents to be furnished by the County, necessary to construct and complete in a good, workmanlike and substantial manner and to the satisfaction of the County, the following public work:

PEACH TREE ROAD BRIDGE NO. 412 PROJECT NO. 2201

State Project No: 05-142284L Federal Aid Project No: STPLZ-5944(041)

in accordance with this agreement and with all of the following additional contract documents which are incorporated into and made a part of this agreement:

- (a) The Standard Specifications, dated May 2006, and the Standard Plans, dated May 2006, including issued revision through October 19, 2012, of the State of California, Department of Transportation.
- (b) A set of plans and cross sections (when applicable) entitled:

PEACH TREE ROAD BRIDGE (REPLACEMENT) AT PANCHO RICO CREEK State Project No: 05-142284L Federal Aid Project No: STPLZ-5944(041)

- (c) The Special Provisions for the work
- (d) The Notice to Bidders calling for bids
- (e) The Payment and Performance bonds require
- (f) Federal Wage Rates
- (g) Certificate of Insurance

- (h) Form FHWA-1273
- (i) The accepted bid/proposal including the following:
 - (1) List of Subcontractors
 - (2) Equal Employment Opportunity Certification
 - (3) Public Contract Code
 Section 10285.1 Statement
 Section 10162 Questionnaire
 Section 10232 Statement
 - (4) Noncollusion Declaration
 - (5) Debarment and Suspension Certification
 - (6) NonLobbying Certification For Federal-Aid Contracts
 - (7) Disclosure of Lobbying Activities
 - (8) Instructions For Completion of SF-LLL, Disclosure of Lobbying Activities
 - (9) Statement Concerning Employment Of Undocumented Aliens
 - (10) Contractor's Certificate As To Worker's Compensation
 - (11) List of Satisfied Public Agencies
 - (12) Exhibit 15-G Local Agency Bidder DBE Commitment (Construction Contracts)
 - (13) Instructions-Exhibit 15-G Local Agency Bidder DBE Commitment (Construction Contracts)
 - (14) Exhibit 15-H DBE Information-Good Faith Efforts
 - (15) Bidder's Bond

All contract documents are intended to cooperate, so that any work called for in one and not mentioned in another is to be executed the same as if mentioned in all. However, should there be any conflict between the terms of this instrument and the Contractor's bid or proposal, then this instrument shall control.

2. WORKERS' COMPENSATION

In accordance with the provisions of Section 3700 of the Labor Code, the Contractor and every Subcontractor will be required to secure the payment of compensation to his her employees.

3. CONTRACT PRICE

The County shall pay the Contractor the following prices for the performance of this contract:

PEACH TREE ROAD BRIDGE NO. 412

PROJECT NO. 2201

State Project No: 05-1422841

Federal Aid Project No: STPLZ-5944(041)

Jose 10/10

- (h) Form FHWA-1273
- The accepted bid/proposal including the following:
 - List of Subcontractors (1)
 - Equal Employment Opportunity Certification (2)
 - Public Contract Code (3)

Section 10285.1 Statement

Section 10162 Questionnaire

Section 10232 Statement

- Noncollusion Declaration (4)
- Debarment and Suspension Certification (5)
- NonLobbying Certification For Federal-Aid Contracts (6)
- Disclosure of Lobbying Activities (7)
- Instructions For Completion of SF-LLL, Disclosure of Lobbying (8) Activities
- Statement Concerning Employment Of Undocumented Aliens (9)
- Contractor's Certificate As To Worker's Compensation (10)
- List of Satisfied Public Agencies (11)
- Exhibit 15-G Local Agency Bidder DBE Commitment (12)(Construction Contracts)
- Instructions-Exhibit 15-G Local Agency Bidder DBE Commitment (13)(Construction Contracts)
- Exhibit 15-H DBE Information-Good Faith Efforts (14)
- Bidder's Bond (15)

All contract documents are intended to cooperate, so that any work called for in one and not mentioned in another is to be executed the same as if mentioned in all. However, should there be any conflict between the terms of this instrument and the Contractor's bid or proposal, then this instrument shall control.

WORKERS COMPENSATION

and every Subcontractor will be required to secure the payment of compensation to his her life employees.

3. CONTRACT PRICE

The County shall pay the Contractor the 6-11

The County shall pay the Contractor the following prices for the performance of this contract:

PEACH TREE ROAD BRIDGE NO. 412

PROJECT NO. 2201

State Project No: 05-1422841

Federal Aid Project No: STPLZ-5944(041)

Item No.	Item Code	F,S	Description	Unit	Quantity	Unit cost	Amount
1	066105		RESIDENT ENGINEER'S OFFICE	LS	1	\$ 16,700.00	\$ 16,700.00
2	070012		PROGRESS SCHEDULE (CRITICAL PATH	LS	1	\$ 7,000.00	\$ 7,000.00
3	070416		CONSTRUCTION SITE MANAGEMENT	LS	1	\$ 19,000.00	\$ 19,000.00
4	070417		PREPARE WATER POLLUTION CONTROL PLAN	LS	1	\$ 850.00	\$ 850.00
5	071325		TEMPORARY FENCE (TYPE ESA)	LF	940	\$ 8.00	\$ 7,520.00
6	074029		TEMPORARY SILT FENCE	LF	940	\$ 10.00	\$ 9,400.00
7	120100		TRAFFIC CONTROL SYSTEM	LS	1	\$ 46,000.00	\$ 46,000.00
8	120090		CONSTRUCTION AREA SIGN	LS	1	\$ 3,250.00	\$ 3,250.00
9	1291000		TEMPORARY CRASH CUSHIONS MODULE	EA	11	\$ 250.00	\$ 2,750.00
10	129100		TEMPORARY CRASH CUSHION (TYPE ABSORB 350)	EA	3	\$ 5,000.00	\$ 15,000.00
11	141110		BIOLOGICAL MONITORING	EA	1	\$ 8,800.00	\$ 8,800.00
12	150605		REMOVE FENCE	LF	160	\$ 7.00	\$ 1,120.00
13	150620		REMOVE GATE	EA	1	\$ 1,000.00	\$ 1,000.00
14	157550		BRIDGE REMOVAL	LS	1	\$ 33,000.00	\$ 33,000.00
15	160101		CLEARING AND GRUBBING	LS	1	\$ 2,000.00	\$ 2,000.00
16	153103		COLD PLANE ASPHALT CONCRETE PAVEMENT	CY	40	\$ 206.00	\$ 8,240.00
17	190110		LEAD COMPLIANCE PLAN	LS	1	\$ 5,500.00	\$ 5,500.00
18	190185		SHOULDER BACKING	TO N	40	\$ 215.00	\$ 8,600.00
19	192003	F	STRUCTURE EXCAVATION (BRIDGE)	CY	120	\$ 420.00	\$ 50,400.00
20	193003	F	STRUCTURE BACKFILL (BRIDGE)	CY	50	\$ 410.00	\$ 20,500.00

Item No.	Item Code	F,S	Description	Unit	Quantity	Unit cost	Amount
21	198001		IMPORTED BORROW	CY	400	\$ 52.00	\$ 20,800.00
22	260201		CLASS 2 AGGREGATE BASE	CY	110	\$ 166.00	\$ 18,260.00
23	390132		HOT MIX ASPHALT (TYPE A)	TO N	150	\$ 160.00	\$ 24,000.00
24	490603	S	24" CAST-IN-DRILLED HOLE CONCRETE	LF	380	\$ 345.80	\$ 131,404.00
25	490801		STEEL SHEET PILING	SQ FT	810	\$ 66.00	\$ 53,460.00
26	510053	F	STRUCTURAL CONCRETE, BRIDGE	CY	52	\$ 2,796.00	\$ 145,392.00
27	510072		STRUCTURAL CONCRETE, BARRIER SLAB	CY	19	\$ 1,794.00	\$ 34,086.00
28	511123		CONCRETE (RAPID SETTING)	CY	43	\$ 1,675.00	\$ 72,025.00
29	512350	FS	FURNISH PRECAST PRESTRESSED CONCRETE SLAB	SQ FT	1,980	\$ 99.00	\$ 196,020.00
30	512510	S	ERECT PRECAST PRESTRESSED CONCRETE DECK UNIT	EA	6	\$ 12,500.00	\$ 75,000.00
31	519088	S	JOINT SEAL (MR 1")	LF	66	\$ 80.00	\$ 5,280.00
32	520102	FS	BAR REINFORCING STEEL (BRIDGE)	LB	28,700	\$ 1.04	\$ 29,848.00
33	566011		ROADSIDE SIGN - ONE POST	EA	4	\$ 400.00	\$ 1,600.00
34	720121		ROCK SLOPE PROTECTION (1/2 TON, METHOD A)	CY	620	\$ 124.00	\$ 76,880.00
35	721028		ROCK SLOPE PROTECTION (No.2, METHOD B)	CY	240	\$ 203.00	\$ 48,720.00
36	729010		ROCK SLOPE PROTECTION FABRIC	SQ YD	570	\$ 1.80	\$ 1,026.00
37	800007		FENCE (TYPE BW,5- STRAND, METAL POST)	LF	65	\$ 30.00	\$ 1,950.00
38	801361A		METAL CATTLE GATE	EA	1	\$ 2,000.00	\$ 2,000.00
39	810110		SURVEY MONUMENT	EA	2	\$ 750.00	\$ 1,500.00

. 47 .

Item No.	Item Code	F,S	Description	Unit	Quantity		Unit cost		Amount	
40	820132		OBJECT MARKER (TYPE L)	EA	3	\$	65.00	\$	195.00	
41	820134		OBJECT MARKER (TYPE P)	EA	4	\$	75.00	\$	300.00	
42	832003		METAL BEAM GUARD RAILING (WOOD POST)	LF	52	\$	71.50	\$	3,718.00	
43	839541		TRANSITION RAILING (TYPE WB)	EA	3	\$	7,000.00	\$	21,000.00	
44	839584		ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	\$	4,031.00	\$	8,062.00	
45	839585A		QUADGUARD SYSTEM	EA	1	\$	32,000.00	\$	32,000.00	
46	839717	F	CONCRETE BARRIER (TYPE 732 MODIFIED)	LF	200	\$	193.00	\$	38,600.00	
47	999990		MOBILIZATION (10%)	LS	1	\$	113,600.00	\$	113,600.00	
	TOTAL BID						\$1,423,356.00			

; 27 ·

IN WITNESS WHEREOF, the parties hereto have executed this Agreement as of the dates appearing below their respective signatures.

CONTRACTOR:

Title:

Date:

Deputy County Counsel

Granite Rock Company	
(Name of Company) By: Signature of Chair, President or Vice-President Rodney Jenny - Executive Vice Pr	By: Signature of Secretary, Asst. Secretary, CFO, Treasurer or Asst. Treasurer* Steve-Snodgrass C.F.0
Printed Name and Title	Printed Name and Title
Date: 06/24/2016	Date: 06/24/2016
COUNTY OF MONTEREY: By: By:	APPROVE AS TO FISCAL TERMS By:
Name: Benny J. Young	Name: Gary Giboney
RMA Interim Director of Public Title: Works & Facilities	Title: Chief Deputy Auditor-Controller
Dated: //26/16	Date:
By: Mary Grace Perry	APPROVE AS TO INDEMNITY/ INSURANCE LANGUAGE INSURANCE LANGUAGE INSURANCE LANGUAGE By: COUNTY OF MONTEREY APPROVED AS TO INDEMNITY/ Namety Steven Friedrick CLIAGE

NameNS&FMENDEMARKGUAGE

^{*}INSTRUCTIONS: If CONTRACTOR is a corporation, including limited liability and non-profit corporations, the full legal name of the corporation shall be set forth above together with the signatures of two specified officers. If CONTRACTOR is a partnership, the name of the partnership shall be set forth above together with the signature of a partner who has authority to execute this AGREEMENT on behalf of the partnership. If CONTRACTOR is contracting in an individual capacity, the individual shall set forth the name of the business, if any, and shall personally sign the AGREEMENT.